
SCELLEMENT DES MATS ARRIERES (sans fourreau) 
2

1
0

0

6000

 2350 à 3600

Référence: 
 

- FB04N253 

Gazon

Béton







5
0
0

Gravier



300*300

5
0

6
0
0














Vis M10-20

Vis M10-20

Rondelle

+ Vis M10x40

 

Rouleau + axe + goupilles

Rondelle

+ Vis M12x120



>

>

> 

>

> 

> 

>



 

Outillage nécessaire :  
    - Clés de 13-16-17 
    - 1 Maillet 
    - 1 Perceuse-visseuse 
    - Forêts Ø3, Ø9 
    - Tournevis cruciforme 

Masse d’une paire de but :  248 Kg 
   

 

 




































 


















 







U de fixation 

Entretoise Acier 

 

- 

 


